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GENERAL PAPER ON TEACHING AND RESEARCH APTITUDE
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1.

Paper -1

e =1

In a row of thirty three girls facing north, F
is thirteenth from the right end. There are
9 girls between D and F. What is D's
position from the left end of the row ?

(A) Twenty third
(B) Third

(C) Eleventh
(D) Data Inadequate

In this question, there are three statements

followed by four conclusions. You have to
take the three given statements to be true
even if they seem to be at variance from
commonly known facts and then decide
which of the given conclusions logically
follows from the three statements
disregarding commonly known facts.

Statements :

Some bottles are bulbs.
Some bulbs are buttons.
Some bats are bottles.

Which of the following conclusion is
definitely false ?

A
B
C
D

Some bottles are bats
No bulb is button

(A)
(B)
(C) Some buttons are bulbs
(D)

None of the above
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3.

10

In a certain code SLPWK is written as
531@% and MEAK is written as 26©%.
How is LPSE written in that code ?

(A) 3@16

(B) 3516

(C) 3156

(D) 3©16

If 'Green' means 'Yellow', 'Yellow' means
'White', 'White' means 'Red' 'Red' means
‘Violet', 'Violet' means 'Black’; then which
of the following will be the colour of human
blood ?

(A) Red

(B) Black

(C) Green

(D) White

How do you treat a student who is irregular

to the class ?

(A) Trytofind the genuinity and help the
student to be regular

(B) Enquire with the student the
reasons for irregularity and make
the student be conscious

(C) Teacher uses sarcastic language
and humiliates the student

(D) Report matter to the principal and
also to the parents
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6.

10.

Which of the following parameters are
considered essential for the measurement
of Quality Education in India ?

(A) Quality infrastructure, Curriculum
and Capital investment measures

(B) Quality assurance, Quality
Performance and Quality outcome
measures

(C) Capital investment, Research
output and Value-based education
measures

(D) Vision, Mission and Capital
investment measures

In a certain code CURTAIN is written as
XAIGEOM. How is TABLE written in that
code ?

(A) ELBAT (B) GFYIO

(C) GEYOI (D) GEYIO

Which of the following will come in the
place of question mark ?

FHJ KNQ RVZ ?

(A) ABC (B) ACD

(C) BEG (D) AFK

The logic of qualitative data analysis is

described as
(A) Obijective
(C) Inductive

(B) Deduction
(D) Subijective

The purpose of qualitative research is to

(A) Promote a deep, holistic
understanding of a phenomenon of
interest

(B) Describe participant’s attitudes on
a five point scale ranging from

strong negative (1) to strongly
positive (5)

(C) Establish causal relationships in a
natural context

(D) Interview and observe participants
to confirm theoretical propositions
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10.
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11.

12.

13.

10

Which of the following method involves a
systematic and comprehensive study of a
particular community, organization,
groups etc. with a view to the analysis of
social problem and the presentation of
recommendations for its solution ?

(A) Experimental method

(B) Survey method

(C) Historical method

(D) Quantitative method

A 21% century teacher should have an

edge over conventional teacher

(A) Teacher should be familiar with
ICT, Life skills, International themes

(B) Effective communication, ICT

(C) Authority on subject, sources of
learning

(D) Abilities to engage children to use
ICT skills, Life skills and
international themes to learn on
their own

A teacher should have

(A) Authority on the subject, Effective
communication

(B) Presence of mind

(C) Conviction, commitment,
involvement

(D) Competencies and skills of teaching
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14. A clean anaerobic fuel of organic origin is

(A) Biogas
(C) Minerals

(B) Coal
(D) Solar Energy

15. The maximum loss of forest lands in India

is due to

(A) Agriculture
(B) Industries

(C) Transportation
(

D) River valley projects

16. Match the pairs :

List A
1) Kinesics

2) Occulesics

3) Paralinguistics
4) Proxemics

5) Artifacts

6) Chronemics

7) Tactilics
Codes :
(A)1-d 2-a
5-b 6-g
(B) 1-f 2-a
5-g 6-c
C)1-b 2-a
5-e 6 —f
(D) 1—c 2—-a
5-e 6-g

List B

a) Science
of the
movement of
our eyes

b) Science of
space

c) Concept of
Time

d) Language
of Touch

e) Pitch, tone,
modulation

f) Postures,
gestures, head
nods etc.

g) Appearance,
clothing,
personal

objects

3-c¢C 4-e
7—f
3-¢e 4-Db
7-d
3-cC 4—-d
7-9
3-Db 4-d
7—f
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17.

18.

19.

10

Your description of who you are as a
person is your

(A) Self awareness

(B) Self esteem

(C) Self concept

(D) Self disclose

A systematic inquiry conducted

by teacher, researcher, principal, school
counsellor, or other stakeholder in
the teaching/ learning environment

is known as

(A) Ethnography

(B) Narrative research

(C) Mixed methods of Research

(D) Action Research

In the conduct of research the process in
which generalizations are inferred from

specific facts or conclusions are derived

from individual observations is called as
(A) Deductive strategy

(B) Deductive reasoning

(C) Inductive strategy

(D) Explanatory strategy

17.

18.

19.
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20. Match the following methods of teaching

21,

with its effective use
List A
a) Inspire, ignites,
stimulates, thinking
Reasoning in
students

List B
1. Discussion

b) Sharing ideas, mutual 2. Lecture
help stimulates thinking
together

¢) Understands
others points of
view, clarification,
Comprehension, new
ideas are generated.

3. Collaboration

d) Self-learning, 4. Seminar
confidence building,

active Participation in

discussion.
5. Problem
solving
Codes :
a b c d
A) 1 2 5 4
B) 2 3 4 5
< 1 4 2 3
(D) 2 3 1 4

Which of the following committee

constituted by the University Grants

Commission (UGC) has recommended

the PPP model in Higher Education ?

(A) Mukesh Ambani and
Kumaramangalam Birla Committee

(B) Dr. Swaminathan Committee

(C) Prof. Yashpal Committee

(D) K.B. Pawar Committee

Cc
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Cc

22. By an extranet we mean

(A) An extra fast computer network

(B) The intranets of two co-operating
organizations interconnected via a
secure leased line

(C) An extra network used by an
organization for higher reliability

(D) An extra connection to internet
provided to co-operating
organization

23. Which of the following are the functions
of the National Commission for Higher
Education and Research (NCHER) ?

i) To develop curriculum in
complementarity with new fields of
knowledge and to provide
conducive environment for flexible
academic framework for self
development, entrepreneurship and
skill acquisition.

ii) To give recognition to institutes of
Technical Education and Research,
disbursement of funds, monitoring
higher educational institutes and
promotion of standards of teaching

To regulate the entry and operation
of foreign educational institutions
and prescribes the mechanism
through which the transparency,
efficiency and accountability can be
ensured in the governing system of
universities

ii)

iv) To facilitate mobility among
students from vocational education
courses to general higher education

(A) i, ii, iii are correct
(B) ii, iii, iv are correct
(C) i, iii, iv are correct
(D) i, ii, iv are correct

10

10
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24,

25.

The degree to which the findings of the
study can be generalized to a wider

population known as

(A) Analysis validity

(B) Construct validity

(C) Internal validity

(D) External validity

Which of the following are implementable

strategies to meet the needs of

heterogeneous students in a class ?

1) Varied types and levels of learning

experience

2) ldentify needs of each student and

plan accordingly

3) Introduce various participant
methods like, collaboration, project,

discussion, etc.

4) Create stimulating and enriching
environment to develop interest in

learning.
(A) 3 and 4 are correct
(B) 2 and 4 are correct
(C) 1 and 3 are correct

(D) All the four are correct

11
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25.
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C
26. Match the following :

List1 List 2
a) Fundamental 1) To find solutions
Research to problemsfaced
by practitioners
b) Applied 2) To establish
Research facts
experimentally
c) Action 3) To identify right
Research practices on the
basis of
established
theory
d) Case study  4) To establish
concepts,
principles, and
theories
e) Experimental 5) To study
Research individuals
in detail
Codes:(a) (b) (¢) (d) (e)
(A) 4 @ @O 6 @
(B) mHmn 6 @ @ ©
(C) @ @ @ 0O ©
(D) G @ @ 6 O

27. The ability to communicate effectively is :
(1) A learned behaviour
(2) An acquired behaviour
(3) A casual behaviour

Codes :

(A) (8)is correct

(B) (1) is correct

(C) (2) and (3) are correct
(D) None of the above

10
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28.

29.

30.

31.

32.

Teachers with poor interpersonal skills
have

(A) A blind style of functioning
(B) A close style of functioning
(C) An open style of functioning
(D) A hidden style of functioning

Listening is a

(A) Physiological process that occurs
without effort

(B) Natural Habit

(C) Complex process that involves
steps

(D) Reflex

People who engage in frank and open
expression of their feeling are considered
(A) Aggressive

(B) Rude

(C) Assertive

(D) Inconsiderate

Troposphere and Thermosphere belong to
(A) Atmosphere

(B) Lithosphere
(©)
(D) Biosphere

Hydrosphere

HTML tags define

(A) The data types of elements of
document

(B) Presentation of specified elements
of a document

(C) The contents of the document

(D) The structure of the document
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Cc

Read the following passage and answer the
questions from Q.No. 33 to 37 given below :

To many people, Switzerland is the country
of the Alps, though not all of it is mountainous.
Northern Switzerland, like neighboring regions
of Eastern France and South-West Germany,
is a land of hills and woods but also of cities
and industries. Basel is world famous for
pharmaceuticals and Zurich and its suburbs
for electrical engineering and machinery. It is
non-alpine Switzerland that produces the
cheese, the chocolates, the clocks and the
watches for which the country is renowned.

The alps occupy the southern half of the
country. They form two main east-west chains,
divided by the straight line of the upper valleys
of the Rhone and Rhine. The northern chain
wholly in Switzerland contains Eiger and
Jungfrau peaks.

The Alps also influence Swiss life though their
impact on climate. They divide the
Mediterranean world from the central
European. There are many regional variations
in climate. But generally the mountain air is
clear and clean - a factor that has resulted in
Switzerland attracting invalids from all over the
world to its hospitals and clinics.

33. Switzerland’s climate which attracts
invalids from all over the world can be
described as
(A) salacious
(C) felicitous

(B) salubrious
(D) boisterous

34. Replace the word “impact” in the
passage without changing the
meaning of the sentence using one of

the following :
(A) change
(C) evolution

(B) alteration
(D) influence

10

14

S06 FUY TR WOJ T S0 NS EHOD
DIFIroSY Nododod. (Q.No. 33 Sooc
Q.No. 37 55%) :

25600708 20080 HUFBROOTO SPETPVT® LOE 000
5030 €98 €365 3 DFID 87555 08, FID (FPoTB
BIEY) ), DD BB T B 5eaTob Tocies
WEHOS TN BT, BOESIOR §7w FOR &od.
277208 (90D (BRERD Ho0te DOENNS SO &0t
208 TR RO Bégen oo Desogd goaBoR,
200 B, esPss geberols rosod D Bmds
o0& DS B Sy, TEB, AEATTes
BOITEYT Q0.

ey DI BFoS’ Gfes VeI eEA0D
€0LTP000. ©9:) DOLR (PR BIPEN)-¢e08 RBeoso SR
God 5°5, 38 wdan NS S0 VTSP
DeRoedod - Ahbero&E™ D Ango &8s B3
2050 BoBa¥w a0l BT OTTHA.

=)

2389y y DITT°O0 TTHTE0 P “(DerH0 DTYHBT
s To&EED BT Beraso DHyoeron. @l
DGEBICS PHOTY G5 TS Ho0d SO
B0, edyy TES TR0 ISy (PoB
DGHOITNA S T LT SEHE0S 1O g
B0 €0cse1059 QT oES™) esuHEBows
DET 00 (HH0B0E F e esEDBOYHBTD.

33. 6ol TEEsno @EHotod el
5ERPOLD TR 2 DJorr 067,551%) 2

(A) ety
(C) 55055630

(B) S5m0
(D) HoGSRSHED

34. 20¢s 300 TRIE” Kool 28 ST FBEPNOE
(RErH0’ e DTS BT &8 TG0 &80

DT (HTGETHCDOT oS WOHOG.

(A) Sy (B) (QTEITHRI00
(C) HderH00 (D) @raog
A-00-01



35.

36.

37.

38.

39.

According to the passage which region
has a major share of mountains to the
exclusion of other land forms ?

(A) Southern Switzerland
(B) Eastern France

(C) South- West Germany
(D) Northern Switzerland

Cheese, chocolates, clocks etc. are
produced

(A) All over Switzerland

(B) only in two cities of Switzerland

(C) in the mountainous regions of
Switzerland

(D) in the non- mountainous regions of
Switzerland

In the first sentence the word “it” in the
phrase “ not all of it is mountainous” refers
to

(A) Mountains
(B)

(C) Switzerland
(D) Alps

Neighboring countries

Words are
(A) Connotative (B) Symbols

(C) Unnecessary (D) Denotative

The presence of excess arsenic in ground
water causes

(A) Black foot disease
(B) Knock knee syndrome
(C)

(D) Blue baby syndrome

Methemoglobinemia
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40. Two skills associated with being a good

listener are the ability
(A) To pay attention and to provide
feedback
(B) To pay attention to and to provide a
strong point of view in response to
a given message
(C) To pay attention and to mask your
disinterest when necessary
(D) Tolistento more than one message
at a time and provide constructive
criticism
Study the following table and solve the
Questions No. 41& 42 based on it.
The following table shows the marks
obtained by seven students in different
subjects :

Students Subjects A B Cc D E F G
Reading
Comprehension 65 58 73 75 68 56 51
(out of 100)
Data Interpretation
(out of 100) 59 63 69 52 7 49 72
Maths (out of 150) 132 | 105 | 141 | 128 | 119 | 120 | 135

Reasoning (out of 200) 138 | 126 | 162 | 144 | 150 | 118 | 132

English (out of 150) 32 27 33 M 29 35 37

Corporate awareness
(out of 150)

105 | 98 112 | 106 | 119 | 107 | 96

Total 531 | 477 | 590 | 546 | 556 | 485 | 523

41. Approximately what is the maximum

difference between the percentage of total
marks obtained by any two students.

(A) 13 (B) 10
(C) 12 (D) 20

42. What is the difference between the

percentage of marks obtained by student
E in Data Interpretation and Maths together
and the percentage of marks obtained by
student A in Reasoning and English
together ?

(A) 16.3% (B) 28.9%
(C) 12% (D) 27.4%
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43.

44,

45.

46.

Which section of a research report sets the
stage for the report and indicates where
in the report each component, tables and
figures can be found ?

(A) Preliminary pages

(B) Table of contents

(C) Main body

(D) Appendices

Indicate which of the four styles refers to
the following statement : “ Do not lecture

me please ! | know exactly what | am
doing”.

(A) Open style
(B) Closed style
(C) Blind style
(D) Hidden style

Movements of the face that convey
emotional meaning are called

(A) Displays
(B) Poker face
(C) Emblems

(D) Facial contortions

Which of the following is not a
greenhouse gas ?

(A) st (B) CO2
©) CH4 (D) CFCs
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47.

48.

10

Which of the following is considered as
the correct sequence in the process of
communication ?

(A) Acting — Message — Communication
channel — Encoding — Receiver —
Decoding — Feedback

Sender — Message — Decoding —
Communication Channel —
Receiver — Encoding — Acting
— Feedback

Message — Sender — Encoding
— Communication Channel —
Receiver — Decoding — Acting

— Feedback

(D) Message —Sender —
Communication Channel —
Decoding — Receiver —

Encoding — Acting — Feedback

Which of the following are considered as
the Semantic barriers in formal
communication ?
(A) Organizational rules and
regulations and policies of the
organization

(B) Attitude of the superiors towards
subordinates and Prejudice

(C) Distrust of superiors towards
subordinates and Inattention

(D) Problem of language and absence
of clarity and precision in the
subject
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49. Which of the following statements are
correct ?

(i) Communication is an Art and a
Science

(i) Communication is a Social process

(iif) Communication is a Human
process

(iv) Communication is a biological

process
(A) i, ii, iv are correct
(B) i, iii, iv are correct
(C) i, iii, iv are correct
(D) 1i, ii, iii are correct

50. Which of the following are the most
important factors in successful
communication ?

(i) Empathy

(ii) Self-awareness

(iii) Memory

(iv) Positive thinking

(A) i and ii are correct, while iii and iv
are incorrect

(B) i, ii, iii are correct, while iv is
incorrect

(C) i, ii, iii, iv are correct

(D) iii and iv are correct, while i and ii
are incorrect
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51.

52.

53.

54.

10

Undue stress regarding oral and/or written
communication is known as

(A) Reticent apprehension

(B) Communication apprehension
(C) Communication block
(

D) Ambivalent reticence

IP addresses are converted to
(A) A hierarchy of domain names
(B) Alpha numeric string

(C) Abinary string

(D) A hexadecimal string

Drawing information or content from the
work of another without acknowledging
the source by citing a reference is
considered to be plagiarism in all of the
cases except

(A) Use the exact words of the author

(B) Reproducing a chart contained in
another authors work

(C) When the information describes
common knowledge

(D) When the information comes from
an email or phone call

In a certain code language ‘tree is very
beautiful’ is written as ‘ka na da ta’ and
‘this is strong tree’ is written as ‘na pa
sa ka’. How is ‘beautiful’ written in that
code language ?

(A) da
(B) ta

(C) sa
(D) Data inadequate
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55.

56.

57.

The variable weight expressed in

kilograms is measured in
1. Nominal Scale
2. Ordinal Scale
3. Interval Scale
4. Ratio Scale
Codes :
(A) 3is correct
(B) 4 is correct
(C) 2and 4 are correct
(D) 3 and 4 are correct

is standardized method for
transferring data between different

computer systems or computer networks.
(A) Mobile data interface
(B) Electronic Data Interchange

(C) File transfer Protocol

(D) Electronic Device interface

Which one of the following is a term for an
audio or video recording posted on a web
site that can be downloaded and played

later ?
(A) Podcast (B) Blog

(C) VolP (D) RSS feed
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58.

10

Which of the following are the advantages
with the communication Networking
known as “Integrated Services Digital

Network (ISDN)” ?

(i) Fast digital connectivity and the
capability of providing for the
integration of voice, video and other

services

(i) It accelerates the flow of information

(iii) It provide an opportunity to share
hardware and software by several

users

It provides the facilities of call
waiting, diversion of calls and

conference calls

(v) It provide the facility for controlling
data base access and other security

requirements
(A) i,ii, v are correct
(B) i, ii, iv are correct

(D) iii, iv, v are correct
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59.

60.

You have been invited to participate in a
research study and have been given an
information sheet about the study. Which
of the following statements best includes
the information you expect to be included
in the information sheet ?

(A) A brief summary of literature, focus
of research and how research will
affect you

What the research is about, benefits
and risks of the research and how
your privacy will respected

A brief summary of the literature
review, how findings will be
disseminated and a place to sign
consent

What the research is about, benefits
of the research and how findings
will be disseminated

A literature review is characterized by all

of the following except :

(A) Summarise and report each article

(B) Use important topics as the
organizational structure of the
review

(C) Analyze all articles for similarities
and differences related to major
topics

(D) Discuss implications relative to the
research problem
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